99-5 TAREEER: HERBE (D)

NTNBFEOR _FEFHhRHSEEREZH
IARRZEE BXRBEC) H#

99-5-06-5
1 2 3 4 5 6 7 8 9 |10 | 11 (12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
B|C|A|A|B|D bbby bD|A|B|A|D|Dj|]C|B|C|C
21 | 22 | 23 | 24 |25 |26 |27 |28 |29 |30 |31 |32 (33|34 |35 |36 |37 |38 ]| 39|40
bpfc|B|D|C|A|D| A|D|A|B|B|B|A|C|D|Dj|]C|]A|C

E—Eip - HIEEE

2 RS E R BV - DUEHIR SO - BRI

B R SR EE AN AH ]
; 1_m_0005_ 1

"P L 1200 240000

4. WKER B A MHEIRLEE - B EEKER

5. PR = (1.700-1.300)x 100 +0.1=40.10

6. RIS XU R B & 8 /K ME G T /KR =

7. A EiEHE =10.000+[1.545 - (~1.665)] =13.210
8

R TR BRI - ERASTURA AR RRGE - AR A ALE

Hl
9. LIREET b IREEN 11 {5

(1.230 - 0.5¢) — (1.640 — 0.5¢)
= (1.530-0.1¢) - (1.970 - 1.1¢)

€=0.030 > 1.970-1.1x0.030 =1.937

RS EE LS S1 > HEATEIINER

HI A~ B IEf#EEFE 2R 0410 m
14. AN, = 277108 —277100 =8

AE . = 232106 —232100=6  #{ AB=10

" AB=10 HBC=20
A4 H AABE fH{LU ABCF
AJANp. =12 5 AEg. =16
1% No =277108—12 = 277096
Ec =232106+16 = 232122

N\
4
—_
\

I

15. dac = Oac +ZA =270°+(250°~130°) —360° = 30°

16. Wy =032 404> =0.5 5 p=—2> !

4000 8000

SE_Zhn - B

22. BRSO ER) 75 EEE

23, F R B SEIER © ERREIC N> K) > BELCN>K) >
JEHRIEI (N> K) > AN BRI R

24, ERRIERE

26. WIEAIAYIRR ~ MRS A YR

28. ARG B RHRTE A — RIR » A BE(E VI » B Bh7E
HH o $REE V I~ HIHE R 45

20 ZHBIEEEAY - TE V M H ma] LIEREH
» R4 AT LU B E RS AR

32, ANEE I EL AT - (&1 L AR SR E R R
/I 200 mx 200 m = 40000 m>

36. PRRIBEMEEFE AR TR OER

37, PG AR B R A R ROK > HAL SRR HS

38.

39.

(1) (€)
40. ZHIE R = 1/2 V)i« i heid ek - HEE S
Qe P AR o A (/2R R I I

£18



